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NO. 0 NO.O  + 0. 00 0. 00 0.48 0. 00 0. 00

NO. 1 NO.1 + 0. 00 20. 00 0.10 0.29 5.80 0.34 0.17 3.40 0. 22 0.11 2.20
NO. 2 NO.2 + 0. 00 20. 00 0.03 0. 07 1.40 0.39 0. 37 7.40 0.84 0.53 10. 60
NO. 3 NO.3 + 0.00 20. 00 0.03 0.03 0. 60 0. 38 0.39 7. 80 1.22 1.03 20. 60
NO. 4 NO. 4  + 0. 00 20. 00 0. 04 0.04 0. 80 0. 37 0. 38 7.60 1. 70 1. 46 29. 20
NO. 4+3. 4 NO. 4 + 3.40 3. 40 0. 04 0.04 0.14 0. 37 0. 37 1.26 1. 70 1.70 5.78
el 83. 40 8. 74 27.46 68. 38
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NO. 0 NO.O +  0.00 0. 00 0. 00 0. 00
NO. 1 NO.1 +  0.00 20. 00 0.08 0. 04 0. 80 0.15 0.08 1. 60
NO. 2 NO.2 +  0.00 20. 00 0.12 0. 10 2. 00 0.58 0.37 7. 40
NO. 3 NO.3 +  0.00 20. 00 0.12 0.12 2. 40 0.94 0.76 15. 20
NO. 4 NO.4 +  0.00 20. 00 0.12 0.12 2. 40 1. 50 1.22 24. 40
NO.4+3.4  |NO.4 +  3.40 3. 40 0.12 0.12 0.41 1. 50 1. 50 5. 10
aar 83. 40 8.01 53.70
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)

NO. 0 NO.O +  0.00 0. 00 0. 00

NO. 1 NO.1 +  0.00 20. 00 0.15 0.08 1. 60
NO. 2 NO.2 +  0.00 20. 00 0.58 0.37 7.40
NO. 3 NO.3 +  0.00 20. 00 0. 94 0.76 15. 20
NO. 4 NO.4 +  0.00 20. 00 1. 50 1.22 24. 40
NO.4+3.4  [N0.4 +  3.40 3. 40 1. 50 1. 50 5.10
aar 83. 40 53. 70
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R AR N= 10.000 = 1.000 = 10.000 | ¥ 10. 00

(900H)

27—k | V= 1.110 X 0.200 X 10.000 = 2.220 | m® 2.22

(24-8-25BB)

R 5 (@125)
(D19) L= 10.000 =+ 0.125 X 1.010 =  80.800 | m
W= 80.800 X 2.250 = 181.800 | kg 181. 80

2. 250kg/m

B B /7775 (5A)
(D13) L= 10.000 X  5.000 = 50.000 | m
W= 50.000 X  0.995 = 49.750 | kg 49. 75

0. 995kg/m

Tl e A= 0.200 X 10.000 X  1.000 = 2.000 | m® 2.00




TATZ7 7V K

B T
KIHE AR R E LD

(t=4cm) A= 142.27 = 142,27 | m’ 142.3
A AR E LD
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(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO.O +  0.00 0. 00 3.19 3. 19
NO. 0+3. 1 NO.O +  3.10 3.10 1.792 2. 46 7.63 1.72 2. 46 7.63
NO. 1 NO.1 +  0.00 16. 90 1.72 1.72 29. 07 1.72 1.72 29. 07
NO. 2 NO.2 +  0.00 20. 00 1.68 1.70 34. 00 1.68 1. 70 34. 00
NO. 3 NO.3 +  0.00 20. 00 1.67 1.68 33. 60 1.67 1.68 33. 60
NO. 4 NO.4 +  0.00 20. 00 1.58 1.63 32. 60 1.58 1.63 32. 60
NO. 4+3. 4 NO.4 +  3.40 3. 40 1.58 1.58 5.37 1.58 1.58 5.37
= 83. 40 142. 27 142. 27
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